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QUESTION 1

An administrator is configuring vSAN Encryption on an existing hybrid cluster. During the configuration, the administrator
is unable to see any information for the Key Management Server (KMS) cluster in the dropdown menu. 

What is necessary for the KMS cluster options to populate? 

A. vSAN encryption requires all-flash configurations. 

B. vSAN encryption needs to be enabled during the creation of a new vSAN cluster. 

C. The Key Management Server needs to be added to vCenter. 

D. vSAN encryption is enabled at the VM level by storage policies. 

Correct Answer: C 

 

QUESTION 2

How do vSAN fault domains relate to vSAN component placement? 

A. Storage policies are inherited by vSAN fault domains. 

B. vSAN objects only exist in a single vSAN fault domain. 

C. The number of vSAN fault domains determines the number of components of an object. 

D. Storage policies use vSAN fault domains for component placement. 

Correct Answer: D 

 

QUESTION 3

What could cause a vSAN stretched cluster to fail? 

A. 5ms round-trip time (RTT) between data sites 

B. blocked UDP ports on the firewall between data sites 

C. Layer 3 communication from the data sites to the witness site 

D. static routes between the witness site and data site 

Correct Answer: D 

 

QUESTION 4

The data on a failed disk group is being rebuilt on other disk groups. Negative performance impact to VMs is being
reported. 
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What can be used to reduce the negative performance impact on the VMs? 

A. resync throttling 

B. maintenance mode 

C. proactive rebalance 

D. disk group data evacuation 

Correct Answer: C 

 

QUESTION 5

Where are the performance metrics for Write Buffer Free percentage located? 

A. host level vSAN performance metrics 

B. vSAN capacity graphs 

C. vSAN Health Check 

D. cluster level vSAN performance metrics 

Correct Answer: D 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/8.0/com.vmware.vcom.core.doc/ 

GUID-97A69368-F085-451B-A53C-2210C1554A9D.html 
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